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solution:

I'= dx

J‘T‘"3 T+ 4

-n/3 T
™ 2—cos(| x| +—)
3
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Let

The second integral becomes zero integrand being an odd function of x.
n/3 dx
= 211I .
0 2- cos[x + T[]
3

{using the prop. of even function and also x| =x for

0<x<m/3}
Let x+n/3=y =>dx=dy
also as x— 0,y —»>n/3 as x—>n/3, y—>2n/3
.. The given integral becomes

2n/3  dy 2n/3 d
ni3 2—cosy n/3 ) l—tanzyf'Z

1+ tan” y/2
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ZZHI. scc2 yi2 J
n/3 3tan” y/2+1

_2m (2n/3 sec” y/2
3dn3 tan? y/2+(1/43)°
2n/3
4m3 [tan_l(ﬁtany.fﬁ)} i
3 n/3
4n

:—[tan_] 3—:1:/4}
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